normalized X?

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

1

107Y

1072

107

107

Entries
Mean

[ normalized x? probability |

Entries 1094139
0.005
Dev. 0

Entries 1096610
0.005

. k!
. . . T N N N N
: . . ox . 5 . :

0924 6 8 10 12 14 16 18 20 099010203 040506070809 1

X2 Prob(x?)

m=m== DQM_original_step2_tthar-phasel-newgeom
mmemm DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
wmm—= DQM_pixelCPETemplateCutChiSquareNew_step2_tthar-phasel-newgeom

< X2/ ndf >

ol

1072

1 -1
AR(track, jetg)



	Contents
	Page 1


